





The square root of 25 1s.....
> or -5
because

5x5=25 and (-5)x(-5)=25



The principal square root 1s
the positive answer. The

symbol “+ ”is used to
represent the principal square
root.



Try these:
a) ~/ 49 -7

b) square root of 64 8,-§










0
g

-
MW\P

r

fya =

9)
3@

ot
éﬂw
o1



s

Radical Sign RadlcandD




Entire Radical
Vo4 Everything 1s

entirely under the
radical sign.
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243

A number 1s 1n
front of the radical
sign. ”
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Reducin: Radicals
To reduce '\/E

you must find the largest square number
that will divide into 123 evenly!
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Use your life line

196 to help you choose

55 the proper square number.
36 Hint: Start at the bottom!!
49

64 25x5=125

81
100 V125

121 @TS

55
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4 Try these:

O aa12 mNT2 g 54
16 - ‘B2 ‘O
w -3 W3 3J6

49

64

81 @d) \/ﬁ ®e) 73\% 28

100 = '
121 ﬂ L 2\
SbJ 2.

lnmzﬂl‘ M'h_ 'HUM
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Express as an entire radical.
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